1.

WA 9x2 —6x+3 =09 F
“FobH?

D 1 @ 2

&, o® + g% 9

@ 5 B 6

=



oA 22~ 10x+k = 09] 2] H7b2 ; 30] HE=E
o] gk gsteler.

B
=¥



~r © 0

<t 0

o o

AN o

PR 22 4 ax+ b =09] T 0] 2, 3% o, o]
®

— 0
)



4. oA 32 —6x+4 =09 F T a
e FohH?

{3
)
lzl

@, ot 44

@D -2 2 -1 3 0 @ 1 B 2



5. 2-prtq=09 % Zola polth at+p=3 ap=2% 1 p>+¢
o] 3t Fatolat.

B
=¥



T 1420 1-28 2O B4, 22 9 ASTF 191 oA AL

D x2-2x-5=0 @ x24+2x+5=0
® ®>+5x+2=0 @ x2-2x+5=0

B 2 -5x+2=0



OJAPFAH A 2x2 —6x4+1=09 F 22 .85t S W, a + 8,

Zom ah oA ALY

®2x2_6x+1:0 @x2—6x+1:0
@ x2-7x+3=0 @ 2x2+6x—-1=0

B 292 -7x+3=0

afes

=
m



0

2v3x2 —x— V3

=IB

1
® -3 @ 1

@ -1

=B

D -



o|J
m
b+
ol
ojig

2 Hol -2, 55 At o] uf, 2

AN, bE

i
<t

— 1

@ x=-1%+ x=2

)
H

)
H



10.

YA 22 35+ 1= 09 F 2L o, f2F T 1)

2% 2o o)1 o)A A% 19 OAEAS 751
D x2-6x+4=0 @ x2-3x4+4=0

® x2+6x+5=0 @ x24+4x+5=0

B 2 -4x+5=0



